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i #h & i #h & i #h & i #h & i #h & i #h &
Wl
FHRETEE RIS R 9,000f 9,000, 9,000 9,000f 9,000, 9,000 9,000f 9,000, 9,000 9,000/ 9,000[ 9,000 9,000/ 9,000[ 9,000 45,000 45,000 45,000
iR | BAE& (L=1000m W=3.5m)
Wl
HMEEELMIRR 5,000 5000 5,000 5,000 5000 5,000 10,000( 10,000| 10,000
= 2% B (L=200m W=3.5m)
Wl
FHREEE R MR 20,000 20,000( 20,000 20,000 20,000[ 20,000 20,000( 20,000| 20,000 15,000| 15,000 15,000 10,000/ 10,000[ 10,000 85,000( 85,000 85,000
£H%E (L=1850m W=3.5m)
Wl
HHEEEA BT SR 15,000 15,000| 15,000 15,000| 15,000 15,000
$ % B (L=100m W=4.0m)
Wl
HHEREXB R 15,000 15,000 15,000 15,000 15,000| 15,000
@ % B (L=120m W=4.0m)
v e
HREEBEALZ 5,000 5000 5,000 5,000[ 5000 5,000
&% (L=164m W=4.0m)
SNEEE i 29,000| 29,000( 29,000 44,000 44,000 44,000 29,000( 29,000 29,000 44,000 44,000 44,000 29,000( 29,000 29,000 175,000| 175,000{ 175,000
X .
SHBA RS
BEAOKKEERE 9,000/ 9,000[ 8,100 9,000 9,000, 8,100
40mEk 15
M
SHBAEER &t 9,000 9,000, 8,100 9,000/ 9,000[ 8100
i P N
BqAXIILY)IT—3aYy
IZB89 HhEE% 15,000( 15,000| 15,000 15,000| 15,000 15,000
BRAL 18
D
gLy —1ar § 15,000 15,000| 15,000 15,000| 15,000[ 15,000
#h
& it 29,000| 29,000[ 29,000 44,000 44,000 44,000 29,000| 29,000( 29,000 44,000 44,000 44,000 53,000 53,000 52,100 199,000 199,000{ 198,100
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